TIME: 2:30 hrs

M.M. 600

CENTURION DEFENCE ACADEMY
NDA (GAT) MODEL TEST

Directions (1-10): Each item in this section has a sentence
with three underlined parts labelled as (a), (b) and (c). Read
each sentence to find out whether there is any error in any
underlined part and indicate your response on the Answer
Sheet against the corresponding letter i.e., (a) or (b) or (c). If
you find no error, your response should be indicated as (d).
1. (@) He had been doing

(b) the job of a physician

(c) during the 1990s.

(d) No error.

2. (a) He said (b) that he preferred
(c) coffee than tea (d) No error
3. (a) All that (b) glitters

(c) are not gold
4. (@) A species is considered
(b) endangered when it is
(c) in a very high risk of extinction in the world.
(d) No error
5. (a) Our greatest glory
(b) is not never falling
(c) but in rising every time we fell.
(d) No error
6. (a) Language is
(b) an essential modes of communication
(c) and every language matters in communication.
(d) No error.
7. (&) The matter was been resolved
(b) after long deliberations
(c) among the members of the team
(d) No error
8. (a) Care has been taken
(b) to ensure safety and security
(c) of the participants in the event.
(d) No error
9. (a) Indian film industry
(b) is considered to be
(c) one of the symbol of cultural and social life
(d) No error.
10. (a) Itis still true
(b) that the Indian economy
(c) is dependent on monsoon
(d) No error
Directions: Given below are some idioms/phrases followed
by four alternative meanings to each. Choose the response
(@), (b), (c) or (d) which is the most appropriate expression
and mark your response in the Answer Sheet accordingly.
11. Beineclipse
(@) Less successful
(c) Very successful
12. Ways and means
(a) A technique
(b) Methods of achieving something
(c) Norms and regulations of doing something
(d) Improving one’s way of doing
13. Upinarms
(a) Very happy

(d) No error

(b) Feeling happy
(d) Being defeated

(b) Very satisfied

(c) Very angry (d) Feeling fine
14. Big ticket

(@) Very less (b) Very costly

(c) Very easy (d) Not much

15. Bolt from the blue

(a) An event or piece of news which is unexpected

(b) Desirable event or news

(c) An event which takes place as planned

(d) News which has been long expected, but arrives late
Directions: In this section you have one short passage. After
passage, you will find some items based on the passage. Read
the passage and answer the items based on them. You are
required to select your answer based on the content of the
passage and opinion of the author only.
PASSAGE
Conventional = education makes independent thinking
extremely difficult. Conformity leads to mediocrity. To be
different from the group or to resist environment is not easy
and is often risky as long as we worship success. The urge to
be successful , which is the pursuit of reward whether in the
materials or in the so-called spiritual sphere, the search for
inward or outward security, the desire for comfort- this whole
process smothers discontent, put an end to spontaneity and
breed fear; and fear blocks the intelligent understanding of
life. With increasing age, dullness of mind and heart sets in.
In seeking comfort, we generally find a quiet corner in life
where there is a minimum of conflict, and then we are afraid
to step out o that seclusion. This fear of life, this fear of
struggle and of a new experience, Kills in us the spirit of
adventure; our whole upbringing and education have made us
afraid to be different from our neighbor afraid to think
contrary to the established pattern of society, falsely
respectful of authority and tradition. Fortunately, there are a
few who are in earnest, who are willing to examine our
human problems without the prejudice of the right or of the
left; but in the vast majority of us, there is no real spirit of
revolt that may have had died down, and our responsibilities
soon putanend to it .
16. Why does conventional education make independent

thinking extremely difficult?

(a) It does not encourage disagreement

(b) It does not accept conformity

(c) It is not fact base, but problem based

(d) Itis only religious education
17. Worshipping success leads to

(a) Questioning the established practices

(b) accepting the established practices

(c) modifying the established practices

(d) neither accepting nor rejecting the established

practices
18. Why do most people want to find a quiet corner in life?

(a) Because they do not like to be in peace

(b) Because they seek pleasure

(c) Because they seek comfort

(d) Because they do not worship success
19. Which word in the passage means ‘bias’?

(a) contrary (b) prejudice
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(2)

(c) uncomprehendingly (d) discontent
20. The word “uncomprehendingly” in the passage means

(a) Achieve success

(b) Earning money

(c) Without knowing

(d) With complete knowledge
Directions: Each of the following items in this section
consists of a sentence, part of which have been jumbled.
These part have been labelled as P, Q, R and S. Given below
each sentence are four sequences namely (a), (b), (c) and (d).
You are required to re-arrange the jumbled parts of the
sentence and mark your response accordingly.
21. P- consideration for others

Q- for self-gratification

R- freedom does not mean the opportunity

S- or the setting aside of

@SPQR (b)QSPR

(c)RPQS (dRQSP
22. P-of any kind

Q- to freedom and intelligence

R- domination or compulsion

S- is a direct hindrance

@RPSQ (b)RQPS

(c)SPQR QRSP
23. P- Enough potassium

Q- banana provides

R- from various sugars

S- and sustained energy

@PQRS (b)RSQP

(c)SQRP QPSR
24. P- of great trouble

Q- thisis a time

R- the world to the maximum

S- as one virus threatens

@PQSR (b)RSPQ

(c)SRQP dQPSR
25. P- are of the opinion

Q- some archaeologists

R- and that everybody enjoyed equal status

S- that Harappan society had no rulers,

@SPQR (b)QSRP

(c)QPSR dRPSQ
Directions: In this section each item consists of six sentences
of a passage. The first and sixth sentences are given in the
beginning as S1 and S6. The middle four sentences in each
have been jumbled up and labelled as P, Q, R and S. You are
required to find the proper sequence of the four sentences and
mark your response accordingly on the Answer Sheet.
26. S1: Man has progressed with science and technology.

S6: What was difficult and impossible is now easy and

possible.

P: He is on the road to conquer other planets.

Q: Now with scientific knowledge and technical know-

how he has done what was impossible.

R: Hitherto he had been backward.

S: He has reached the moon.

The correct sequence should be

@SRQP (b)RPQS

(c)RQSP QRSP
27. S1: We drink more water during summers.

S6: There are variations in weather conditions during

different seasons.

P: On the other hand in north-eastern states, winters are

mild except in the hills.

Q: Because in North India, both the sessions have
extreme weather conditions.
R: School clothes during the summer is different from
the winter.
S: Why do you wear lighter clothes during summers and
heavy woolen clothes during the winter in north India?
The correct sequence should be
@SRPQ (b)RSQP
(c)PQRS dQPRS

28. S1: Policy, like many other terms, is a complex concept.
S6: Public policy is the outcome of the struggle between
government and powerful groups.
P: It is form of government control usually expressed in a
law, a legislation, a regulation or an order.
Q: Public policy is what a government chooses as
guidance for action.
R: A policy may be general or specific, broad or narrow,
simple or complex, public or private, written or
unwritten.
S: It takes different forms.
The correct sequence should be
@SRQP (b)SQPR
(©)RSPQ (dPQRS

29. S1: The dhoti kurta is a traditional lungi-type garment
worn by men in India.

S6: Gandhi ji usually wore a simple shawl with his dhoti.
P: It is commonly worn with a loose long tunic.
Q: This he started wearing after he abandoned his
western attire of pants and shirt.
R: A dhoti, made of homespun khadi cotton cloth, was
the garment favoured by Gandhi ji.
S: The dhoti is rectangular piece of unstitched cloth,
around five yards long, wrapped around the midriff and
tucked between the legs.
The correct sequence should be
@PSRQ (b)RSPQ
(c)SPRQ (d QRSP
30. S1: Languages in contact with each other cause change.
S6: Changes often occur first in informal and casual
language.
P: The increasing use of English in many parts of the
world affect both local languages and English.
Q: Language contact has long been recognized as a major
engine of change.
R: This gives rise to new, hybrid language varieties.
S: A historical example is that of Danish and English
which led to a major shift in the vocabulary and grammar
of English.
The correct sequence should be
@RSQP (b)QSPR
(c)QRSP (dSQRP
Directions: Each of the following sentences in this section
has a blank space and four words or group of words are
given after the sentence. Select the most appropriate word or
group of words for the blank space and indicate your
response on the Answer Sheet accordingly.

31. Hesaid thathe ......... when he lost all his investment in
the stock market
(a) was broken (b) was broke
(c) brake (d) had been collapse

32. The man in black thought that he was ...... selected for

the team to play at the national level
(a) one of the player

(b) one of the players

(c) is one player
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(d) the player of the team
33. When she .... Her friend after a period of two decades

her throat choked

(@) meets (b) had been meeting
(c) met (d) has met
34. The portrait of the lady conveys........ it appears
(@) the best (b) more than
(c) the most (d) nothing
35. Abiography is ..... person’s life history
(@) about a (b) about
(c) fora (d) with a

Directions: Each item in this section consists of sentences
with an underlined word followed by four words or group of
words. Select the option that is opposite in meaning to the
underlined word and mark your response on the Answer
Sheet accordingly.

36. His arguments are not valid. People consider it bombastic

(a) outdated (b) straight forward
(c) verbose (d) not true
37. The decision was absurd for many of the members of the
team
(@) bizarre (b) meaningless
(c) reasonable (d) thoughtful
38. Relatives of deceased have been informed about the
accident
(@) injured (b) alive
(c) dead (d) survived

39. At last she was able to get some solace as the matter has
been resolved amicably
(a) comfort (b) relief
(c) punishment (d) aggravation

40. Twenty first century has turned out to be a century of

problems contrary to the thinking that it would be a

better time
(a) similar (b) different
(c) divergent (d) good faith

Directions: Each of the following sentences in this section
has a blank space with four words or group of words given.
Select whichever word or group of words you consider the
most appropriate for the blank space and indicate your
response on the Answer Sheet accordingly.

It sounds like....... Great idea. People getting instantly
excited 41. when they hear...... phrase ¢ education for peace’
or the title 42. of a course that calls itself ‘peace Education’ .
About a decade ago, I proposed such....... Course in my
institute . The idea of a course 43. ......... ‘peace education’
had occurred to me on the way back from 44. One of the
neighbouring countries where 1 met students of class IX. |
could not find .....45. difference Indian students.

41. (a)a (b) an
(c) the (d) some
42. (@) a (b) the
(c) that (d) some
43. (a) any (b) the
(c) some (d) a
44, (a)to (b) in
(c) for (d) on
45, (a) any (b) the
(c) that (d) this

Directions: Each item in this section consists of a sentence
with an underlined word(s) followed by four words/group of
words. Select the option that is meaning to the underlined

(3)

word and mark your response on the Answer Sheet
accordingly.

46.

47.

48.

49.

50.

51.

53.

54.

Having got excited she opened up the Pandor’s Box
which led to lot of commotion

(a) uproar (b) peace

(c) sound (d) furious

The inherent danger in the problem is that it would lead
to many more problems

(a) outward (b) difficult

(c) hallow (d) inbuilt

The officer was reprimanded by the court for delaying
the case

(a) admonished (b) appreciated

(c) praised (d) disliked

Some people think that their strength is perpetual
(a) temporary (b) powerful

(c) ever lasting (d) all persuasive
One’s actions exemplify one’s attitude and values
(a) devise (b) sympathize

(c) asks for (d) demonstrate

Which of the following are the characteristics of
electromagnetic waves? / faefe geardbir areeil bt fardraars
forFaiferidaa 3i 31 dlar-2ft 32

1) They are elastic waves. / @ FdGR d%ei 3

2) They can also move in a vacuum. / d e das 4 sit
FeIlGTiAfSd B2 ADd 3

3) They have electric and magnetic components which
are mutually perpendicular. /3ol urt fdez[d siiz gadbia
T 3 Ol URIUR® U A ciead al

4) They move with speed equal to 3 lakh meters per
second. / d 3 cirRa #ice ufey Adss B e sIfel b Arel AT 3l
Select the correct answer using the code given below: /
oiiI fST 318 IS DI JURIIST PP At IR Iok:

@1,2, 3 and4

(b) 1, 2 and 4 only

(c) 2 and 3 only

(d) 3 and 4 only

. Radiations coming from the Sun are mostly in the form

of /31 31 a1el aret fafepu1 SifelbaR & 3 Bl 8

(a) light only / dact uebtor

(b) light and long-wavelength infrared / udbrer iz cidt asr
Jeet srased

(c) light and short-wavelength infrared / ucprer sliz c-
deIGet 3[axh

(d) both short and long-wavelength infrared / ez 3z Slet-
ol Sloll 31aTh

The temperature of a place on one sunny day is 113 on
the Fahrenheit scale. The Kelvin scale reading of this
temperature will be / e f&ol gu 3 B Siols BT AIusIol

BIIGIBISC UHIol U2 113 31 33 AIUdHIGT bl Dicdel Tl IAfSsr
glen

(@) 318K (b) 45 K

(c)62.8K (d) 335.8 K

A rigid of mass 2 kg is dropped from a stationary balloon
kept at the height of 50 m from the ground. The speed of
the body when it just touches the ground and the total
energy when it is dropped from the balloon are
respectively (acceleration due to gravity = 9.8 m/s?) /
Stattel 3 50 3t Dl Hars U2 3 316 v ¥R edl? I 75 Gl
2 2 fpcilemst goemeel BRI S 31 931z & sifer Sia =18 RBib
Staftol 3fiz 9rd1e @l el & Sta &g R Steftol ot et & il et
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55.

56.

57.

58.

59.

it SId 531 el I PRI ST & il ha9r: Bletl & (SR>earduur
& oRUI carur=9.8 m/s?)

(a) 980 m.s~! and 980 J

(b) V980 m.s~! and v/980 J

(c) 980 m.s~! and V980 J

(d) V980 m.s~! and 980 J

Compared to audible sound waves, ultrasound waves
have / 1o eafor a2sil &t qetol 3, SICCIRISS Aol aldl &

(a) higher speed / 3ca sifer

(b) higher frequency / 3<a siafet

(c) longer wavelength / cidft dacier

(d) both higher speed and frequency / 3ca sifet 3ii2 aidfer
Sloil

Which one of the following statements regarding cathode
rays is not correct? / deiis b2l &b ider I forFarfeilRaa 3
Dol AT Dol A1 olal 37

(a) Cathode ray particles are electrons / &elis 3 dut
Selaciol ald &

(b) Cathode ray particles start from the anode and move
towards the cathode / dels fdp2u1 &b DUl wolls A 9+ BlD2
Fells ol 3liz a5 3

(c) In the absence of electrical and magnetic fields,
cathode rays travel in straight lines / fdzr 3lie dercbrRr 8151
I srefuf3erfer 3, delts fop2ui Alelt Tzl 3 A Dxcdl &

(d) Television picture tubes are cathode ray tubes /
efifdstol fiaaz e dells 3 e &

Light rays move in straight lines. But through an optical
fibre, they can move in any type of zigzag path because
[ucpret fepui fteft 33a1sil 3 actctl 3) cifdpol v siiftedet wsa
& 1A A, q fepil 8ft U P Rereior el 3 Ferreliafsd o2
B 3 FEIIfD

(a) the holes through the fibre are extremely fine /GEaz
O HIEIH A BG 486 Sl 3

(b) light rays are absorbed in the entry end and relieved
at the exit end of the fibre /ucprer fcp3ui udor 3iet 3 a9t
Bt o 3 3iie wisaR & forort Rir wasasdl 3

(c) scattering of light occurs inside the fibre /udrer @1
UehIviel BISER & 3iG2 BIAT 3

(d) successive total internal reflections occur as a ray
moves through the fibre /cofére et stial¥e ufcifda wsa
3 FATe A U 201 B Fu 9 B 3

Two bodies of mass M each are placed R distance apart.
In another system, two bodies of mass 2M each are
placed a distance apart. If F be the gravitational force
between the bodies in the first system, then the
gravitational force between the bodies in the second
system will be / goaairel M & &t 93131 @I R G313 rcTol T
SIRIT 3| U 3Io=I UVIIcH 3, Govreret 2M b Gt fiis ol sieter Tzar
3R 31 Al F uscit uvretl 3 forpril & dia ssedranur det sio,
Al g3t uvictt 3 formrIl B dia spBcaraur det glon

(@ 16 F (b)1F

(©4F (d) None of the above

The loudness of a sound depends upon the / eafor bt S5ars
fopar uz forsls ot 3

(@) velocity of sound waves in the medium / Fre=1a1 3 eafor
2311 BT dol

(b) amplitude of the sound waves / eafot d2oil T IR

(c) frequency of the sound waves / eafor a2sil &l sirgfe

(d) frequency and velocity of the sound waves. / eafor
3ol bt 3rqfer 3R det

60.

61.

62.

63.

64.

65.

A pendulum clock is lifted to a height where the
gravitational acceleration has a certain value g. Another
pendulum clock of the same length but of double the
mass of the bob is lifted to another height where the
gravitational acceleration is g/2. The time period of the
second pendulum would be: /e Ugcr ast @l e Hars
1D IORII SIII & SI81 [BcaIPYUI VI DI U forfe a1Tol Bl
31 32t ciars bl v SR Ugewt as! cifcbol did &b GodIel DI
SISToll B 3iI? 35aTS AP 301 Sl SIIedl 3 ST8i IR aIpUuI vl g /
2 8l g3t Ugcta b Jperarafer gstt:

(in terms of period T of the first pendulum) / (usct Ugeta
b srafer &t & et 3)

@vV2T (b) %7 T
© V2 (T

Water is heated with a coil of resistance R connected to
domestic supply. The rise of temperature of the water
will depend on / &¥er 3mufef A SIS ufeRle R & Pseil 3 uroft
31 BT 3| UTofl b ATUdHIG! T Il fo18iz Dot

1) Supply voltage / amgfei dicest

2) Current passing through the coil / dscld e A
qeiatrol 31 331 3l

3) Time for which voltage is supplied. / ag BRI =1 e
dicest ot amufel bl Siredt 8

Select the correct answer from among the following: /
forgotfe1iRad 3i 21 8T It DI TRIol B3

(@ 1,2and 3 (b) 1 and 2 only

(c) L only (d) 2 and 3 only

Soaps clean surfaces on the principle-based on / Brgida uz
3Mrenf¥a Face Adel Dl Aol

() Viscosity / fazoi3ict

(b) Floatation / geticorat

(c) Elasticity/ senRefrct

(d) Surface tension / 3RWwA cort

10 g of ice at — 10°C is mixed with 10 g of water at 0°C.
The amount of heat required to raise the temperature of
the mixture to 10°C is /10 s eb U2 - 10 °C 0°C U2 10 ST
Uroft &b ATl RFICIRIT SITAT & 313101 T ATgeATet 10 °C AP IGTol B
fore smagerd 3t St AT Blddt 3

(a) 4000 cal (b) 550 cal

(c) 1050 cal (d) 1200 cal

Which one of the following statements regarding lenses
is not correct? / ciz1 & ider 9 forgotfetad 3t 21 blol A1 Derel
A8l o1t 32

(a) A convex lens produces both real and virtual images /
TP IIcl O AIFAfd 3ii2 3Meiit Sloll UehI2 bl sidRIl o1
3CUIGH BIAT 5

(b) A concave lens provides both real and virtual images
| OB 31ade oid arFAfde 3ii2 et Sloll RRT UsTel B2 3
(c) A convex lens can produce images equal, greater and
smaller than the size of the object / 3tiet ci=1, T3] & IDR
bl etoll 3 RIeR, 3iferp i BIC T dolt A1 3

(d) A concave lens always provides images smaller than
the size of the object. / e 3radet ¢RI sdol I P DR A
B R Usiel w21 3l

Consider the following part of an electric circuit: / fdega
ufduer &P forwarferf3ad sier uz fdam o3
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66.

67.

68.

69.

70.

2 ohm

A ERNET

The total electrical resistance in the given part of the
electric circuit is / faege fdbe & few a1e 911 3 Pet faegeT
ufeRle 3

(2) = ohm (b) = ohm

(c) 15 ohm (d) 5 ohm

If the work done on the system or by the system is zero,
which one of the following statements for a gas kept at a
certain temperature is correct? /afe; Brrcst =1 Brea uz
fepen o1 Rt 916 3, Al v forfa Aot w2 2l o Sl b
fere foreot 3 3 Blot 21 werer A& 32

(@) Change in internal energy of the system is equal to
the flow of heat in or out of the system /RBrzea & stials®
il 3 uf¥acior uuictt & 3ic2 < a182 st & uars & weEe 3
(b) Change in internal energy of the system is less than
heat transferred /Rrrcat & stiafye it 3 uf¥acdor sl
FIAIARA A B

(c) Change in internal energy of the system is more than
the heat flow /uvrrctt &1 sriafyae et 3t uf¥adot 3>wem & udis
A 3iférp Bl 3

(d) Cannot be determined /forerif¥e ot fapen St Arpar &

A student measures certain lengths using a meter scale
having least count equal to Imm. Which one of the
following measurements is more precise? / v 81 1 #ic
P RIGR DA A D Boldl aret #ics Fdbet oI TR BID B
ciars Fur 3| forForferiad 3 A dlor 21 71 3iféd IS 32

(@) 0.50 mm (b) 29.07 cm

(c) 0.925 m (d) 910 mm

"The sum of emf's and potential differences around a
closed loop equals zero™ is a consequence of: /"o s eu
@ aRI 3l $EAED 3iIT AN 3{2 DI ST Yo D SRR &
$3IP1 BPH UV 3:

(2) Ohm's law /3 I o

(b) Conservation of change /afsacior w1 Jizetor

(c) Conservation of momentum /3idsT &1 Ji3gI0T

(d) Conservation of energy /3ssit @1 338101

A car starts from Bengaluru, goes 50 km in a straight line
towards the south, immediately turns around and returns
to Bengaluru. The time taken for this round trip is 2
hours the magnitude of the average velocity of the car for
this round trip. / e @R SoIc[ A 9 Blddl &, 50 fpetlaics
Gfg1u1 b i o AMefl var 31 St 8, G s Siredt 8 3iiR Sore
cile SiIet 31 331 siicT ABI 3 foTE TIsTo AT IRT S Siiel A B
fere ®12 & 3iiard de1 D1 2 '@ B

(@) is 0.

(b) is 50 km/hr.

(c) is 25 km/hr.

(d) cannot be calculated without knowing acceleration. /
TA2UI ] SiTol {6 SIuTal o1dt &b S Al

Two substances of densities P1 and P2 are mixed in
equal volume, and their relative density is 4. When they
are mixed in equal masses, relative density is 3. The
values of P1 and P2 respectively are; / @oiea P1 3liz P2 b a1
ucrel el AN 3 31f3a 81 3, 3iiT oldbT el Holcd 4 BIdT 3l
SId d AHIol GordTel 3 f3If3Ie Bl 3, Al ATUST "ol 3. THIAIT: Pl
3l P2 O HIo1 3,

() 6, 2 (b) 3,5

71.

72.

73.

74.

75.

(c)12,4 9,3

A solid disc and a solid sphere have the same mass and
same radius. Which one has a higher moment of inertia
about its centre of mass? /e® 3131 83D 32 v B1A 8151 3
JeTel gorletTal 32 el Brse 2l 31 fep31ch govrental &b g b
12 3 TSI DT b 3T 81T 37

(a) The disc /f&=®

(b) The sphere /siem

(c) Both have the same moment of inertia /Gliail 3 SIS BT
o 3l 8013

(d) The information provided is not sufficient to answer
the question /<t o1$ STrerR! Usst BI 302 Sol b fe1e uRItd ordt

If an object moves at a non-zero constant acceleration for
a certain interval of time, then the distance it covers in
that time. /afe; IS a3 AR B wep OIRAA 3icRIe &b fere 313
9Io for2c caur uR acicdl &, A 31 A1 3 a8 g3t ot 3l
(a) depends on its initial velocity /331 urefér det uz forste
PIAS

(b) is independent of its initial velocity /3rdor urefdre et 21
TADIS

(c) increases linearly with time /s1eRT & rer 3Raes »u 3
TGAIS

(d) depends on its initial displacement /s31b urfre
fazenuot uz forsts waar 3

When does a ball bounce off the ground, which of the
following changes suddenly? / 3ic Sttlot 3t doa el 3,
forFeiferRac 3i 31 Dlel AT 3rIGID IGTIAl 32

(Assume no loss of energy to the floor) / (31t <i &b FifSter
DI 30l DI DI ofbATol old! g3l

() Its speed / sifer

(b) Its momentum / Jidst

(c) Its Kinetic energy / siferst 3eit

(d) Its potential energy / sifde SHait

Which one of the following statements regarding Ohm's
law is not correct? / 3iie1 & DIolol D 12 i forFotferRan i A
Dol T Dol Aal olal 32

(a) Ohm's law is an assumption that current through a
conductor is always directly proportional to the potential
difference applied to it. / 3131 o1 forwT v &evn 2 fo v
DSAC D A A AciHTol AT 3 U TS AT 3i1R D
i) sireruifers Brr 3l

(b) A conducting device obeys Ohm's law when the
resistance of a device is independent of magnitude and
polarity of applied potential difference. / oo Jas®
3UDIT 3B B fOIRIe DT UlcTol BIAT & SIF U SUDUT BT
uferter uf¥aAmr 3Tt eI e 3= P grdierar 3 Faest sl 3l
(c) A conducting material obeys Ohm's law when the
resistance of a material is independent of the magnitude
and direction of the applied electric field. / oo Jas®
Ztafl 3l & foreret ot uicTol w2l & S fanft amersft ot
uferRer o1 ferd 811 b uf¥our sii fom 3 Facs1 Sdr 3

(d) All homogeneous materials obey Ohm's law
irrespective of whether the field is within range or strong.
| 218t STt Jmersfl sitet &b oIt oI Ulctol Bl &, a18 as 8t
2Hierr O sfier2 81 A1 ASIEl

In which of the following phenomena do heat waves
travel along a straight line with the speed of light? /
foreaifer3aa 31 31 13531 aca i ItI 301 UahI9l b aIfel b IATel
o Aleft 33t b e An Bt 32

(a) Thermal conduction / ardi=r arcraar
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76.

77.

78.

79.

(b) Thermal convection / ewfct Jaser

(c) Thermal radiation / epfet fafcs2ur

(d) Both thermal conduction and radiation / ardier @meraar
aiiz fafdp2ur ol

Let there be an object having some chemicals in it. It
starts moving with a uniform velocity v, and a chemical
reaction starts happening. In this case, which of the
following statement/s is/are correct? / feoeit axq @1 3wt
DB RARI6I Blol G| AS T AdATol ddT v & AT G0l Y DA 8,
31z v IRIrIford uftiferen Blal clordl 31 53 APIc 3,
forFaife1Rac 3i 31 Pl 31 Berel 331 8 / 82

1) Chemical reactions happening in the system cannot
change the velocity v of the centre of mass of the object./
Rzt 31 ol arefl IRIRIGID UfIpRIS a3 & Goddlel b b
& J9T v Dl olal deet Al 8

2) Chemical reactions happening in the system cannot
change the kinetic energy of the particles inside with
respect to the centre of mass an object weighs 369 in air
and has a volume of 8.0 cm of an object. / RBzcat 3 glot
aIctl IRIRIfoID UfIBRIN goererel b g & 3ig2 ol bl siferst
3ol ol o1él doel Al & , Sil fopt a3c] DI asiol 36 31191 &al I
Bl 8 3l 53141 bt @] o 8.0 ot bl a1 et 8

Select the correct answer using the code given below: /
ofi<I fT 318 IS DI JURIIST B At IR Iol:

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

A thin disc and a thin ring, both have mass M and radius
R. Both rotate about axes through their centre of mass
and are perpendicular to their surfaces at the same
angular velocity. Which of the following is correct? / e
Uctefl 183 3l? u uectt 3isIdt, Gloil 31 Goetiol M 3z Brear R
BI1 31 Sloll 31Ul g P AIEIH A PealfSl D 12 3 G 3 3l
P 3l PIvfler IoT U2 3o1ch! AAB] b cidad sl 2l foreot 3 3 Dot
1 3B 32

(a) The ring has higher kinetic energy /f¥s1 3 3<a siferst
Soll eIt 3

(b) The disc has higher kinetic energy /f&3 3 3ca sIferst
Sall &

(c) The ring and the disc have the same kinetic energy
[acr 3z {33 31 vep &l siferst et aldt &

(d) Kinetic energies of both the bodies are zero since
they are not in linear motion /Sleil fiist &t wIsoifed 3eit
9Io¥1 3 Riifep & 3Raap aifer 9 ot &

Which one of the following cell organelles does
NOT possess nucleic acid?/ forerfeiRaa 3t 31 wlet 21
et sifstoret 3 oIfdretd Bl¥Ts o1dl &

(@) Nucleolus/ saférerrr

(b) Chloroplast/ aciRicenze

(c) Ribosome/3saiie

(d) Plasma Membrane/ tetrsar fSreeit

Which one of the following cell organelles does NOT
possess its own genetic material encoding proteins?/
foreotfeTiRae 3 31 Dlot A1 AT 3ifSTolet 3ol Fq P IO
ucrel o Uictel 3t Jerfad o1t 3 32

(a) Ribosome/3saie

(b) Nucleus/snfdrm

(c) Mitochondria/smseiotfogen

(d) Chloroplast/ aeiRiteize

(6)

80.

81.

82.

83.

84.

85.

Which one of the following is NOT a component of
conducting tissue in plants?/ fororferf3aa 3t 21 ot 21 el 3t
D D AdIclol DI BD TcD olal 8

(a) Fibres/>9

(b) Tracheids/ ¢bis

(c) Pericycle/ t3tamsidsa

(d) Sieve tubes/ Tctofl co@

Which one of the following organisms has vascular
tissues?/ forForferfiac 9t 3 fova Sfta 3 Jiasoft Haw B g

(a) Cladophora /EFelaThIRT
(b) penicillium/aforfiferret
(c) Marsilea/ FsTcTpR3t

(d) Anabaena/37ATeT

Which one of the following organisms represents the
primary consumer category in an ecosystem? /
forotferiRad 31 3 mlol A1 Sl wo uifseferdl a1 3 urerfdrsm
3usiicpr Joft o1 uferfeiféra w2ar 32

(a) Caterpillar/ wsre

(b) Crabapple tree/sbauet U5

(c) Froglere®

(d) Sparrow hawk/ sit¥=m srst

Which one of the following is an example of salt-Crystal
growth? / foroiferfR3aa 9t 31 dlot 1 oleIdb-fop3cel fadRT o1
TP 36183V 87

(&) Chemical weathering/ IRIRIfoI® ¢ B

(b) Physical weathering/ omsits®

3IUBTL

(c) Biological weathering/ Siféas sragrr

(d) Bio-chemical weathering/ Sia JraRIfoId USRI

Which one of the following statements regarding
Electrocardiogram is correct? / sclaglapIfSRIeIe P a2 i
forFaiferRa 3 3 il AT Berel At 82

(a) Electrocardiogram is graphical representation of
electrical activity of cornea/ selagimpifSRIene RoERI &
ifofen bl il aiferfafer or uferforfira

(b) Electrocardiogram is graphical representation of
activity of kidney/ selacioiSalene Rt 8 316 ot siferfafer
I ufeiforferea

(c) Electrocardiogram is graphical representation of
activity of brain/ sciagioifS:usmme #ARawD oI arferfafer o1
feptorr uferferférea 8

(d) Electrocardiogram is graphical representation of
electrical activity of heart/ scracIoifSiemd R 3 et
I ferege arferfafer o1 uferforfaea

Which one of the following statements regarding
Penicillin is correct? / Ufoif3ifetor o Jider 3t foreatferRaa 3t 1
Dol AT Belol At 37

(a) Penicillin resistant bacteria can store this antibiotic in
vacuole/ afoif3ifetor uferRtelt dacifan s tarifes o1
Rfpepr 3t Jeifed o2 Jdd 8

(b) Penicillin resistant bacteria can degrade this antibiotic
by an enzyme called f3-lactamase / tfeiRiferor uferRieft
Yacifyen B -clacIdist olvID USlisd GIRI 53 Blldrifed ol oftar
fGzr I &

(c) Penicillin resistant bacteria can degrade this antibiotic
by an enzyme called lactic acid dehydrogenase/ ufciBiferar
ufeRieft Jaci= cifered oi¥ts FaEgISoN olvd Udb Uelsa
ORI 53 R Bl offar f&zar Ao 3
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86.

87.

88.

89.

90.

91.

92.

93.

(d) Penicillin is not absorbed by bacteria; so most
bacteria are resistant/ tfoif31fctor dacif¥n grRI sraonftid odl
Blar 3, s2fete siferpior dacifym ufeRlef 3

Which one of the following organelles of mammalian
cell is rich in hydrolytic enzymes? / aetest @it b
forgotferRan Siidl Jf 1 Dlol A BISIICISICD SISl 3 LG 87
(a) Mitochondria/arscimifeg=m

(b) Ribosomes/zsai=ito

(c) Lysosome/ clrsitie

(d) Nucleus/ sufdrm

Which one of the following statements regarding cholera
is correct? / 3311 b i 3 forotfetRae 3 3 dlot A1 Derat Adt
3

(a) Cholera is a disease that causes loss of memory/ 3sit
o Ot ot 2 o1t Igatea 2 St 3

(b) Cholera is a disease of muscles due to consumption
of alcohol/ 9R1a & 3idol b BRI ST ARTUIIRI BT 2161 3

(c) Cholera is a disease due to consumption of
contaminated food or water/ st e et 8 Gfti siistol a1
UTGi oI Adel b DBRUI

(d) Cholera is a genetic disease. / 85T v 3iroldifordp et
8

Which one of the following minerals is used as a fuel
in nuclear power stations?/ foraifc1Rae 3t 21 fopa1 aforst
DI UHIV] 35011 I ol 3 $elol B U 3 URIISI fpall SIIl &?
(a) Bauxite/ arqmrse (b) Quartz/ qarést

(c) Feldspar/ etz (d) Pitchblende/ firascis

Which one of the following is NOT a synthetic
detergent?/ forwarfc1iae 3t 31 il 21 b Ridified fSesic
o8l 8

(a.) CH3(CH2)10CHzoSO§Na_

(b) [CH3 (CHy)15-N-(CH3)3]* Br~

(c) CH(CH,);,CO0~Na*

(d) CH(CH;)4,COO(CH,CH,0),, CH,CH,OH

Which one of the following is an example of a clean
fuel?/ BrFo1fe1Rac 3 3 Dol Td IATH $tIol DI UD IGI83UT

Y

3
(a) Coke/ @i (b) Propane/ titet
(c) Petrol/ ucrer (d) Wax/ it

Which one of the following metals does NOT react
with cold water?/ forgotfetiact 3t 3 wlot 2t & 53 urofl 34
uferfepern ofdl el 8?

(a) Calcium (Ca)/ dfcormer

(b) Potassium (K)/ dicformt

(c) Magnesium (Mg)/ Fsrcfiformer

(d) Sodium (Na)/ 3fS=eEr

In which of the following pairs are the ions
isoelectronic?/forgorferiRae 3i 31 b1 SIS 3 3IRIoT
SAISCIAGIOID &

(a) Mgzﬂ Ar (b) Na*, 0%

(c) AI¥*, CI (d) K*, Ne

Which one of the following is used as a binder in
paints? / foworfeif3aa 3 21 lor 21 Ue 3 a15S2 b Fu i
3u=ieT fapaT SIIT &7

(a) Titanium dioxide/ ersciorIa STS3iiaRIES

(b) Novalac/ sifaci

(c) Phthalocyanine/ werciidrIfolet

(d) Silicones/ Riferpior

(7)

94.

95.

96.

97.

98.

99.

Basic scientific principle behind a nuclear reactor is/
wa1] f¥uac? & dis oct dsmiora RBrgia 8

(@) Nuclear fusion/ uemu] JcRIol

(b) Controlled nuclear fusion/ uemv] JcrIot forRiBIT

(c) Uncontrolled nuclear fission/ siforife uzsroy
fadsat

(d) Controlled nuclear fission/ forRiBrt uemy] fadsot
Which one of the following statements is NOT correct
for the given reaction?/ <t s1$ uferfeper & fere forFotferRaa
3 21 Dlol AT Dol et o1dt &2

Fe(s) + CuSO4(aq) — FeSOq(aq) + Cu(s)

(@) Iron is the reducing agent/ 3iRIZol B BIal I Bolc
g

(b) The solution turns green in colour after the
reaction/ UfeIfopeIn b A1 AHATEITGT &2 391 3 AGel SIIl &

(c) Copper is a more reactive metal than iron/ @i« ciig
&bl getott 31 3ifére uferfepaofiet arg 3

(d) The reaction is an example of a redox Reaction/
ufcrfepeIr ve ISia ufeifeper o1 vdb 3518201 3

Which one of the following is an organic acid?/
forwotferRae 3t 2 il AT U BIEID 3T &

(a) Hydrochloric acid/ srsglacili¥® elk¥s

(b) Nitric acid/ csie® el¥rs

(c) Acetic acid/ Rz st

(d) Sulphuric acid/ sterp b1 s

Dinitrogen (N,) and dioxygen (O,) are the main
constituents of air but they do not react with each
other to form oxides of nitrogen because/ fSforcIsior (N,)
3IIR STs3iifdRISIel (02) AIRY O FXRT €D &, Tlfcbol d olIsgIstol
& SHTATSS Fotlol P fe1e U A & rer uferfeben oidf w2
2 qeiifcp

(a) the reaction requires initiation by a Catalyst/
uferfépen & fe1e Siet b 3IaeIadr ald! 23D

(b) oxides of nitrogen are unstable/ siscIstol & sifass
aif¥er Bl 8

(c) the reaction is endothermic and requires very high
temperature/ ufeifeper estefde 3 3iiz e 3ifird Ao
&l s dr st 3

(d) the stoichiometry of N, and O, in air is not ideal
for the reaction to take place/ zar 3 N, 3iiz O, &1
st 8 ufdifdperr ol & fo1e sigel oidl 8

The equivalent weight of oxalic acid in CH,04.2H,0
is/ CH,0,4.2H, O 31 sifaemfere vf3ts & qeae asiol &

(@) 45 (b) 63

(c) 90 (d) 126

On exposure to moist air, copper gains a green coat on
its surface due to formation of which one of the
following compounds?/ o131 &d1 b 3Audh 3 3ol U2, did bl
qa18 A $ADI AAB U UPD 82 291 DI DIC Bl 3 forFatfeiRaa
3 21 Ub DI SIG0T AISIPL

(a) Copper carbonate/ disr @rdiole

(b) Copper oxide/ ®tuz sifarss

(c) Copper sulphate/ ®tuz 3Icibe

(d) Copper Nitrate/ @wiuz oirsce

100. Which one of the following will NOT produce

carbon dioxide on reacting with an aqueous solution
of hydrochloric acid?/ forsetfe3ae 3i 21 Dlal 21 o181 Slom
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(8)
BISsIadlisd BlRs & v Sicfler glet &b rer uferfosen wol

U2 PIN0l SIE3HARIES DI SCUIGH bl 37
(a) Limestone/ dolr ucerz
(b) Quick lime/ Sre<t gont
(c) Chalk/ ar®
(d) Marble/ Jieza2

101.Who was the author of the book ‘History of British

India’? / “f82¢t siiw fafeor $fsenm "y & craad ot A?
(a) Charles Grant / arc3i stic

(b) John Stuart Mill / Sifer 3g31¢ e

(c) James Mill / St fBret

(d) William Jones / f[AfeReT Site=1

102.‘The Azamgarh Proclamation of August 25, 1857

stressed on which one of the following issues? /25 3P,
1857 O 3IISIIIPIG IGINUI of forFotferiad 3 3 fbd 918 U ik
{2

(a) Hindu-Muslim divide / &gt fasnfSa

(b) Support to the English Government / 3iSIsit J_BR @1
ABRIAT

(c) The return of the Badshahi / argengl &bt ara=ft

(d) The imposition of heavy Jumas (revenue demand) /
91131 ST (ST AIST) DI Uil

103.Which Viceroy had made the observation,”it’s a

beautiful world if it wasn’t for Gandhi ....”? / {1
ARIIIRI of 3[dciido] [l eI, "8 U IS GioRI 8 3PR A8
a1iefl b feru ol e ... "2

(@) Lord Irwin / eifs sfder

(b) Lord Wavell / ¢it$ daer

(c) Lord Mountbatten / ¢if$ si3cdcot

(d) Lord Willingdon / ¢if$ fafeisrser

104.Which Indian businessman favoured ‘healthy capitalism’

in helping Gandhiji to work towards a ‘common object’?
| o031 st st of capital Tazel Ustidrg T 2erelol
8 alitlsil I object ATHIoA T3¢’ Dl [G9I1 I DI Dol 3 AGG
b7

(a) Ghanshyam Das Birla / acte=me1 o1 fersenn

(b) Ambalal Sarabhai / iaTcirct RIS

(c) Sir Biren Mookerjee / 3= fdot AIpoit

(d) T. T. K. Krishnamachari / €t ¢t & coumeirart

105.The art piece “In Memoriam” was a creation of which

one of the following European painters? / 3 i1 "sot
FAIRIE forootietiRad 3 3 [t RIURI RIpR oI et off?
(a) Thomas Jones Barker / eifs131 Site31 drdbe

(b) Joseph Noel Paton / SiRiw oilect urcot

(c) Thomas Daniell / eiferat Sforrer

(d) Charles D’Oyly / a@re=i D'Oyly

106.Who among the following historians have described the

Quit India movement as a ‘spontaneous revolution’? /
forFaiferiRad sferarermmRl 3 3 fdb21or $112d VIS 3Ticiciol Dl Uh
(a) Gordon Johnson / sitSet Sifertet

(b) David Arnold/ Sfas smeifes

(c) F G Hutchins / vw Sit sitie=1

(d) Peter Robb / diez 3fa

107.The Karachi resolution of Congress in 1931 advocated

which one of the following issues? / 1931 3 DRI & Dt
ey of forrotferad el 3 3 fepadbt aaicrd b1

(a) State shall not own or control key industries and
services / 35 ugRda Jelioll 3liz Jarsil ol FAfded A BRIFT
o181 el
(b) State shall handover the key industries and services to
the Indian business groups / 31w uga Jelisil aiie JAarsil dI
HR(IRI SATUR BT Pl AU o
(c) State should allow the Indian business group to invest
fifty per cent of the capital / 351 @ s>l RIUR UG DI
U Uferord Ut forder ol &bt arefdafet Soft anféw
(d) State shall own or control key industries and services
| 3151 U9 el Sz Jarsil & ALfeTd SI6I Al 366 ORIBIT
DI

108.The treaty of Schonbrunn (1809) was signed after which
one of the following battles? / ofteisiot (1809) bl ifér uz
g2c1eR fobu s1u 9, ORI 3 v & a6 oSt &3 of?
(a) Battle of Austerlitz / sfizcfeicst &l s
(b) Battle of Tilsit / férerze1 &t cIsS
(c) Battle of Wagram / aommd &1 3
(d) Battle of Lishon / ferzsat &t IS8

109.Which one of the following statements about the New
Model Unions is/are correct? / o2 sifscl AforRIoll &b 12 3
forFotfe1f3ad 31 3 ol 3 derot AL 8/ 32
1. The new model unions were formed in the 1850s / 1850
T GOID 91 o1Q FifSTT AfoTIoil DI SIGoT fbal SRIT et
2. The new model unions were formed in the 1880s / o1@
sl AforIoil I 3101 1880 B GOl 3 b srm e
3. The new model unions comprised a Labour Party idea
/ 01w sifsel YfoRrell 3 Bep cleR Ut oI fdars onfdret e
4. The new model unions excluded women in the 1920s /
o1Q ifsel ALOTIoIL of 1920 b Gl 3 ABCISI Pl WB2 IAI
Select the correct answer using the code given below: /
ofidl f&Q 310 IS DI SURIIST B At I go:
(@) 1 only (b) 2 only
(c)3and 4 (d) 3 only

110.The Truman Doctrine of 1947 was announced to achieve
which one of the following? /1947 ?ﬁgﬁaﬁmﬁﬁzﬁm
forFaife1i¥ac 3i 31 fd531 v ol Urd @20l &b forg i o18 eff?
(a) Containment of the USSR /II@1@131R ®I dol
(b) Increasing agricultural production in the USA /3Rp
IS 3AT¥DT 3 PV Ieurcol 3 aly
(c) Offering friendship to Europe /2RIu I 311 Ustol
Dol
(d) Strengthening the UNO /3R 31 3ie B FSTe] Tolloll

111.Which of the following statements is/are correct? /
forFotfe1R3ad 31 3 ol 31 werot AL 8/ 32
1. In 1948, Burma was admitted to the United Nations
and immediately supported the USA in the cold war /
1948 1, a1 IR e 4 91efl g3l 312 Aol el ofid g 3
IRITD A IAATIDI DI AT fdparn
2. In 1948, Burma joined the United Nations but refused
to denounce China as the Aggressor in the Korean War /
1948 1, Y1 IRIXD ATC 41 QIIITeT BI SRII clichol DIUIRATS G o
ol Y 313if31a &b U 3 oIbIZol A $oIdIR B2 far
Select the correct answer using the code given below: /
ofi<I f&T 31Q IS DI IURIIT B At IR ol:
(@) L only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

112.Who among the following presented ‘The April Theses’
to the Russian people in 1917? / fowarfeiR3aa 3t 31 fepror
1917 3 3t cliell & fere ' st efter U fopar
(a) Stalin / ze1fetet (b) Trotsky / Cicxbt
(c) Bukharin / gastet (d) Lenin / ciféror
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113.The treaty of Yandabo was signed in / Js1dl &bt Jifer uz

g3d1eR fopu s1e &
() 1826 (b) 1825
(c) 1824 (d) 1823

114.1n the Manusmriti which form of marriage results from
the “Voluntary union of a maiden and her lover”?/
FTod1fer 31 frars T wlot AT U "Jardt 3l 33 Wt o1
Fifess et 87
(a) Eighth form/ smeat »u (b) Fifth form / ufaai u
(c) Seventh form /amaata  (d) Sixth form / so1%u

115.Consider the following description of the Samadhi of a
former Prime Minister of India: / s1rec1 & v ud ueroreiit
bl Aefel b forForfciRa fdazur u2 forar &2
Central Samadhi platform comprises nine square Mack
polished granite solid Stone blocks, capped with a Diya’
in the centre. The number nine holds significance and
represents the navarasas, navarairas and navagrahas.
Then placement of the ninesquare Samadhi is in a
circular lotus shaped pattern. The nine-square platform is
accessed in four cardinal directions by pathways made in
white composite tiles so that the floor does not get
heated. / Scier Joafer 3ic 3 oft aol b Uiferer SIS B UrerR
scifcp ofdet &, Sil g 3 SR P AT BRI B3I 3l ol Dbl AR
Hacd 34l 3 3112 o1, ola2A 3iR oIdeIs Pl Uferforferea madl
21 fib52 oftoreraddt J9TIfer BT Tellel Ub SNCIBIR BT D 3IDIT
I 31 oll-diI2 Teiewid Bl 2Atbe [f3a crsell 3 Jol PI gRI
AR DIfSolct fSomai 3 vaiat foven Sirar 3 drfds wet o1t of 3l
Identify the Samadhi: / Jfetfel bt useel D3
(a) Shakti Sthal / efebzerelt  (b) Shantivan / griferaot
(c) Sadaiv Atai / et 3rers (d) Veer Bhumi / Iz s1fér

116.Rainfall caused by intense evaporation in equatorial areas
iscalled................... | apgreteadier gl 91 i arcdicpaur

(a) Organic rainfall / Sifére qut

(b) Cyclonic rainfall / Tepardt qut

(c) Frontal rainfall / eretic aut

(d) Conventional rainfall / u3FurerT aut

117.A drainage pattern where a river is joined by its
tributaries approximately at right angles is known as
.................. | veb Sict forprit Geot Siat v aidt ol 33t
ABRID olfSRil GIRT AHDIVI DIVI U2 SIST Sl 3, 337

(a) Dendritic / Sfgfem
(b) Trellis/ ¢fetar
(c) Rectangular / 3mRIcTDdR
(d) Radial />f&=1et
118.Which winds blow from the sub tropical high pressure
belt to the equatorial low pressure belt in the tropics? /
3uur piede i urwipiesel 3ca Gard e 3 I oot
GdIq doc Aad Dl 2t zare acdt 32
(a) Blizzard / swlet ciwiot
(b) Westerlies / Westerlies
(c) Trade Winds / ¢s fidgat
(d) None of these / o131 3 IS o1at

119.The most densely populated island of the world is? /
glorar o1 A3 doll JIIEICT aretr ghu wlot A1 82

(@) Sri Lanka / sftciapt

(b) Iceland / sms3rcis

(c) Java / Simar

(d) Puerto Rico / wict 3ot

(9)

120.The ‘Diphu Pass’ which is the tri-junction between India,
Myanmar and China is onthis Border Line? / Line Siw 531
*, Sl 811, AR 3iR et b dta o1 Bropivfr Sicreret &, 331
o uz 32
(a) Durand Line / g3s ¥
(b) Palk Strait / ucw I¢c
(c) McMohan Line / ficwaisel a1
(d) Radcliffe Line />sfirere

121.Who gave the proposal of Big Bang Theory? / fds1 do1
2013} BT U1 feptol T emm?
(a) Edwin Hubble / esfdet aaet
(b) Georges Lemaitre / Sifotd cidie:
(c) Kepler / oterz
(d) Friedrich Ratzel / Ipsf¥e® Jcaret

122.Doldrums pressure belts lies in between which of the

following latitudes? / Sle1g# Gara dee forworferRac satioll
3 21 foparcp dffa RBer 32

(@5°Nto5°S
(b) 35°to 60° N and S
(c) 25°to 35° N and S
(d) 35°to 45° N and S
123.The largest ecosystem of the Earth is / gedi @I a1 a1
uifsRerferebt a1 8
(a) Biome / grior
(b) Hydrosphere / Sicwiset
(c) Lithosphere / ferelizhirz
(d) Biosphere / arIFbRIRZ
124.The atmospheric layer farthest from the Earth’s surface is
known as / qedt bt 21 3 A1 G2 ArgFHSTHRI U2 B DI
SIIAl 3
(a) Stratosphere / F¢AIRwRIR
(b) Exosphere / saRiiRR
(c) lonosphere / sRIGEIST
(d) Mesosphere / =B RRE
125.Which of the following is not an igneous Rock? /
forForf1fad 3i 31 Dlol 3T UP 3MFoRI AEICl olal &7
(a) Dolomite / Siciigse
(b) Granite / stemise
(c) Basalt / S=1ree
(d) Gabbro /sm@s
126.The world’s largest lake is___ ? / frea &bt Jrert a1t sficr 32
(a) Lake Victoria / faaeits=n sfiet
(b) Lake Superior / 3difser: sfier
(c) Caspian Sea / dRuRIer AP
(d) Black Sea / @retr @R
127.Which type of rainfall occurs when two air masses of
different temperature meet? / fap31 ucpR &I qui ad Bt 3
514 fafdrool ATUIel & S AR GoIeAIel et 87
(a) Conventional Rainfall / urzuf¥es quf
(b) Orographic Rainfall / siilenftbe aut
(c) Frontal Rainfall / eTetie qut
(d) Cyclic Rainfall / acbkr aut
128.The Tropic of Cancer does not pass through: / @ szar
ﬁiﬁ?ﬁz‘{a’éfﬂaﬁﬁz
(@) India / set (b) Pakistan / urfcpaerer
(c) Bangladesh/ giscmicer (d) Myanmar/ s=1i#R
129.Which Indian state has the longest Coastline? / fieat
STIcAIRT IIaeT 31 AGA cieft acear 82

(a) Kerala / et (b) Gujarat / ssRIe
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(c) Andhra Pradesh / smzruger  (d) Tamil Nadu / afdrecrons
130.The upper part of the Mantle is called: / dicer b Hu3t et
DI DB Il 3:
(a) Mesosphere/ FRizbrRRE
(b) Asthenosphere / o396 BRI
(c) Both A and B / A 3iiz B Gleil
(d) None of these / so1di 31 @IS o1&t
131. Who was the Education Minister in the first Cabinet
of independent India? / 3aeT $1d & Usct ABPHST 3
for81r i1t Dot o
(a) Sarvepalli Radhakrishnan / Jrduceit 2remrgprurot
(b) Sardar Vallabhbhai Patel / J13c1z accmsiens ucea
(c) Maulana Abul Kalam Azad / siicTrol 3igcl detis
3IIeIlG
(d) Acharya Narendra Dev / 3rari oi3g ga
132. Article 46 of the Constitution of India refers to the
promotion of educational and economic interests of /
I D ATALITOT DI 3O[CES 46, ITD 3T 3l fBeii b
Jiqefol Y gortar &
(@) religious minorities / enfdfd 3cuiz=ID
(b) Scheduled Castes, Scheduled Tribes and other
weaker sections / e[l SiIfel, SlofIlIA Stofsiliel 3ii2
316eI DTS It

(c) displaced persons from large irrigation projects /
ol Biars uf¥eiistonsil 3 fazenfiua wifcp

(d) the economically deprived / 3nféie u 3 dfera
133. The provisions of the Fifth Schedule of the
Constitution of India shall not apply to the
administration and control of the Scheduled Areas
and Scheduled Tribes in / s1rea & ifderror b uradt
3roRIct & UIaErTel U9IRol 3112 SIoRIfIA il Sii2 Sielifera
StetsHferRIl & foRiIvI 3t 9] o1at aisll

1) Chhattisgarh, Jharkhand and Odisha /&G ,

RS 32 sifSon
2) Assam and Tripura / 3r1e iR Brgr
3) Meghalaya and Mizoram / 3rarerI 3ii2 i

Select the correct answer using the code given below:
[ ofial f&w o1 IS DI 3u=MsT BID A8l T2 Yoi:
(@) 1 only / daet 1
(b) 1 and 2 only/ 1 3fiz 2
(c)2and 3only/23fiz3
(d)1,2and 3/1, 23iiz3

134.India successfully test-fired BrahMos supersonic
cruise missile with several indigenous features.
BrahMos missile has been developed by India in
collaboration with Ra 3 B8 w@aEh
fagtoare & arer seig qﬂﬁﬁm wol fraga &1
1Qy ijik.k fd;k céakl felkby dk Hkkjl’ Up e d
Ig;kx Ik fodflr fd;k gA
(a) France / Qkl (b) USA / vefjdk
(c) Japan/ tkiku  (d) Russia/:- 1

135.Which of the following zone of Indian railways
recently launched “Operation My Saheli” for safety of
lady passengers? Hkjrh; jyo d fuefyf[kr e L
fdl thu u gky gh e efgyk ;ki=;k dh Dj{kk d fy,
AR A8 w2l g a1 a8 2\
(a) South Eastern Railway / nf{k.k 10 jyo
(b) Eastern Railway / 1ol jyo
(c) East Central Railway /10, e/; jyo

(10)

(d) East Coast Railway / bLV dkLV jiyo
136.Who among the following recently launched the new
logo of Sports Authority of India’s (SAT)? /
fuufyflkr ei I fdlu gky gh e Hkjrh; [ky
ikf/kdj.k (SAID) dk u;k ykxk ykp fd;k g\
(a) Amit Shah / aif¥ra =me
(b) Prahlad Singh Patel / 1gykn flg 1Vy
(c) Kiren Rijiju/ fdju fjtht
(d) Ravi Shankar Prasad / *faziex ydrg
137.Which of the following country will send out the
world’s first mining robot into space by November
this year? / fr=ifafRea ¥ |4 @19 &1 39 39 9@
uocj rd nfu;k dk igyk [kuu jkekV virfj{k e:
HEXKk\
(@) USA / vefjdk  (b) Japan/ tkiku
(c) France / Qkl (d) China/ phu
138.Indian Coast Guard Fast Patrol Vessel ICGS
'‘Kanaklata Barua' has been commissioned in
. Rd aerEe doRed dol Tedl 9id
u ICGS *dudyrk c#vkt dk - # e foar
X;k gA
(@) Mumbai/eichl  (b) Kochi/ dkfPp
(c) Puri /- jjh (d) Kolkata / dkydkrk
139.The National Institute of Nutrition (NIN) has revised
the ideal weight of men to .| s aiyor
ILFku (NIN) 7 gool & armesl aoiu &1 weifia &=

---------- dj fn;k gA
(a) 62kg (b) 65kg
(c) 66kg (d) 68kg

140.Nation pays homage to Mahatma Gandhi on his 151st
birth anniversary. Mahatma Gandhi returned to India
in , after spending 21 years of his life in
South Africa. / <21 3 wrsgfaar werenr el & SA@)
151 oh t;irh ij JI)kefy vfiir dhA nf{k.k vQidk e
viu thou di 21 Bky ferku di ckn] egkRek Xk/kn
e Hkjr ykv vk, A
(a) 1912 (b) 1915
(c) 1904 (d) 1917

141.What is the length of the world's longest highway
tunnel ‘Atal Tunnel’? / nfu;k dh Bcl yich jktekx
Ijx "vWy Ljx* dh yckb fdruh g\
(a) 7.32km (b) 7.82km
(c) 8.22km (d) 9.02km

142.1SRO is scheduled to launch its Venus mission in the

year st e fee e & g -
el ykip dju okyk gA

(a) 2022 (b) 2023

(c) 2024 (d) 2025

143.India will signs USD 90 million defence deal with
which of the following country to buy spares for C-
130J Super Hercules aircraft? / Hkjr 10&30 t Lij
wagfod e @ fag goif &t wdied @ fag Qo @
BkFk 51, IMh 90 fefy;u j{kk Bkni ij gLrk{kj djxk\
(a) France / Ykl (b) Russia /z I
(c) Israel / btjkby (d) USA / vefjdk

144 Which of the following organisation has decided to
launch a refinance scheme for Water, Sanitisation and
Hygiene (WASH) programme? / futufyfkr e I
fdl IixBu u Water, Sanitisation and Hygiene
(WASH) srfwa & fag gafda atem g% awu dk
fu.k; fy;k g\
(a) ISRO
(c) NABARD

(b) DRDO
(d) NITI Aayog
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145.Visnu Shivaraj Pandian is associated with which of
the following sports? / fasoy Rra=rsr grfea=
futufyflkr e I fdld [ky di BkFk €Mk gvk g\
(a) Shooting /erfeTr  (b) Golf / xkYQ
(c) Foothall/ QVcky (d) Badminton/ cMfeVu
146.Youth Affairs and Sports Minister Kiren Rijiju
flagged in CRPF Divyang Yodha Cycle rally from
Sabarmati Ashram, Gujarat to Rajpath. Who among
the following is the current Director General of
CRPF?/ ok ekeyk vkj [ky e=h fdju fjftt u
Ihvkjih,Q fn0skx ;k/Ak Bkbfdy jyh dk Bkcjerh
vkJde] xtjkr b jkeifk rd gjh >Mh fn[kbA
futufyf[kr e I dku CRPF & adw weikes 2\
(@) A P Maheshwari /, ih ekg=ajh
(b) Surjeet Singh Deswal / Bjthr flig nlloky
(c) Arvind Kumar / vjfon dekj
(d) G. Satheesh Reddy / th Irher &Y
147.Recently, India successfully test-fired a new version
of nuclear-capable Shaurya Missile. It can strike
targets at around . gky gh e Hkjr u
o] e @ fraty do,d u, BLdj.k dk
1Qyrkiod ijhk-k fd;kA ;0 yxHx - dh njh rd
v{; dk Kkn Edrh gA
(a) 200 kms (b) 500 kms
(c) 800 kms (d) 1,200 kms
148.Prime Minister Narendra Modi inaugurated the
‘RAISE 2020’ summit. ‘RAISE 2020’ is associated
with? / i/ku e=h ujin eknh u RAISE 2020’ Rrer
IEeyu dk mn%kVu fd;kA RAISE 2020° fdl I
LEcf/kr g\
(a) New Education Policy / =1 Rrem fifa
(b) GST Returns / th, IVh fjVu
(c) Artificial Intelligence /®f=e cf)eRrk
(d) Defence Products / j{kk mRikn
149.Recently, India successfully tested the ‘SMART’
Torpedo release from Wheeler Island off the coast of
Odisha. S in SMART stands for ./ gky gh
#, a3 Aifser @ ac 4 Sax v § ‘SMART
VkjitMk fjyne dk 1Qy ijifk.k fd;kA ‘SMART e S

[0 [/ = (—— gA
() Sided (b) Supersonic
(c) Secondary (d) Screen

150.Which of the following country has recently test fired
new hypersonic ‘TSIRKON’ missile? / fuEufyf[kr e
4 fog 291 3 vra & ¥ 7 swwifa ‘TSIRKON’
felkby dk iji{k.k fd;k g\
(@) Russia/: 1 (b) China/ phu
(c) USA / vefjdk (d) France / Ykl
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CENTURION DEFENCE ACADEMY
NDA — GAT Answer Key

1. | C|31. B|6l. A 91 C|121. B
2. 1C|32.|B|62. D] 92. | B|122. A
3.1C|33./|C|63./C|93. | D|123. D
4, |1C|34. B|64. B|94. |D|124.| B
5. |C |35 |A|65.|B| 95 |C|125. A
6. B|36. B|66.|A|96. [C|126.|C
/7. |A|37..C|67.|C|97. |C|127.|C
8. |B|38. B|68. D|98.  B|128. B
9. 1C|39.|D|69. A 99. C|129. B
10. | D |40.|A | 70. | A|100.| A [130.| B
11.|D |41.|B |71.|]A|101.|C |131.| C
12.|B|42.|B|72.  A|102.| A |132.| B
13.1C [43./D |73./|B|103.| D [133.| C
14. B [44. 1D |74./|D|104.|C [134.|D
15. |A|45.|A|75./|C|105.|B |135. | A
16.| A |46.|A|76. B |106.|C |136.|C
17.| B |47.|D |77.|A|107.|D |137.| D
18. C |48. A |78.|D|108.| A|138.|D
19.|B|49.|C|79. ] A|109.| B |139.| B
20./C|50./D|80.|C|110. D |140. B
21. | D|51./C|81. | C|111. B |141. D
22.|A|52./C|82. | A|112. A|142.| D
23.|D|53.|A|83.|A|113. D |143. D
24. D |54./D|84. C|114. A|144. | C
25.|C|55.|D|85. | A|115. A |145. A
26.| A |56. B |86.  C|116.| D |146. A
27./B |57./D|87. A|117. B |147.|C
28.| A |58./A|88. D|118./ C|148.|C
29..C|59. B|89. B|119./C|149. B
30. B|60. A|90.|B[120.|C|150. A
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